新发展英语2试卷二

Part I.  Use of English (20 points)

Directions: In this part there are 10 incomplete dialogues. For each dialogue there are four choices marked A, B, C and D. Choose the ONE answer that best completes the dialogue. Then mark the corresponding letter on the Answer Sheet with a single line through the center.

1. Can you help me ?
    A. No, I don’t know.         B. Sure. What is it?

C. Don’t mention it.
      D. That’s it.

2. --- Oh, it’s you, Tom, let me help you with the bag.

--- No, Bill, I can manage. ________________.

A. Thank you all               B. Thank you

C. Thank you all the same        D. Thank you the same

3. --- May I have a word with you?
   --- ____________________.

A. Sorry, you mustn’t            B. No, I don’t know you

C. What’s that                  D. Sorry, I’m too busy now

4. --- You cooked us a wonderful meal, Mr. Smith.

--- ___________________. I’m glad you enjoyed it.

A. No, just so-so      B. Not at all     C. I don’t think so    D. Thank you

5. Sorry to trouble you.

   A. It’s a pleasure.                B. I don’t think so

   C. No, I don’t mind at all          D. Never mind

6. Do you mind if I smoke here?

   A. That’s all right.     B. Of course not     C. OK.       D. Yes, please

7. How’s your family?

   A. Thanks all the same.   B. Thanks for calling   C. Not too bad  D. Don’t mention it

8. How about going for a drive?
   A. It’s OK      B. Yes, we shall      C. Yes, please.   D. Good idea.

9. Would you like a coffee?
   A. Yes, please.                   
B. Yes, I prefer tea.

   C. I like coffee very much.          
D. Thank you very much.

10. What’s the matter with you?
   A. It doesn’t matter.                B. Not too bad

   C. I don’t feel well                 D. That’s all right.

Part II. Reading Comprehension (30 points)

Directions: There are three passages in this part. Each passage is followed by five questions. For each question there are four choices marked A, B, C and D, You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the center.

Passage 1 

Holidays in the United States usually occur at least once a month. Most months have a national holiday that has been arranged to be celebrated on a Monday. The holidays have all been decided to be celebrated on a Monday so that the workers may have 3-day weekends---that is, Saturday, Sunday and Monday in order to rest or travel or do things with their families. Major holidays in the United States such as New Years Day or Christmas Day or the day, when we remember the first settlers of the United States, called Thanksgiving Day. These holidays most businesses close and the workers stay home and celebrate with their family.

   Vacation can be from 2 weeks a year to 4 weeks a year. This usually depends on how long you’ve been working for a company, what type of position you have, whether you have a high position or a very important position and it’s difficult to find someone to replace you. In that case, you might take a few days at a time rather than taking one month all at once .Usually the more time you spend working for a company, the more time you may get for a vacation.

11. The government of the United States makes it a rule for workers to have____ weekends.

     
A.1-day  B. 2-day   C. 3-day   D. 4-day

12. Workers in the United States sometimes work from_____.

     A. Monday to Saturday    B. Saturday to Monday

     C. Thursday to Friday     D. Tuesday to Friday, 

13.  Which statement is wrong according to this paragraph?

      A. Only a few shops remain open on New Years Day.

      B. Most of the workers needn’t work on Christmas Day.

      C. Days on vacation must be more than all the holidays in a year.

      D. All the workers have a half-month vacation at the least.

14. The reason why someone has to divide his vacation into several parts is that___.

      A. no one can be found to take his place.

      B. he hasn’t a most high position

      C. he plays an important role in his work.

      D. he hasn’t been working for his company for a long time.

15. Which is the best title for this paragraph?

      A. Holidays in the United States

      B. Vacation in the United States

      C. How do the workers spend their holidays

D. Something about the holidays and vacation in the U.S

Passage 2 

One crossing of the Atlantic is very much like another; and people who cross it frequently do not make the voyage for the sake of its interest. Most of us are quite happy when we fell tired enough to go to bed and pleased when the journey is over. On the first night this time I felt especially lazy and went to bed rather earlier than usual. When I arrived in my cabin, I was surprised to see that I was to have a companion during the trip. I had expected to be alone but there was a suitcase like mine in the opposite corner. I wondered who he could be and what he would be like. Soon afterwards he came in .He was the sort of man you might meet anywhere, except that he was wearing such good clothes that I made up my mind that we would not get on well together, whoever he was, and did not say a single word to him.

   I suppose I slept for several hours because when I woke up it was the middle of the night. I felt cold but covered myself up as well as I could and tried to go back to sleep. Then I realized that a drought was coming from somewhere .I got up to shut the door but found it already locked from the inside. The cold air was coming from the window opposite. I crossed the room and as I did so the moon shone through it on to the other bed. There was no there. It took me a minute or two to remember locking the door myself. I realized that my companion must have jumped the window into the sea.

16.  The story happened in a ____________________.

   A. ship     B. plane    C. train   D. car

17. The companion of the writer was __________________.

   A. a scientist                B. the writer’s colleague  

C. the writer’s friend        D. an ordinary man

18. From the passage we may infer that the writer______.

   A. liked his companion            B. would have a good trip

   C. didn’t like his companion     D. would kill his companion

19. The writer did not like his companion because_____.

   A. he was a stranger   

B. his companion wore good clothes

   C. the writer didn’t want anyone to go with him on the trip

   D. his companion was quite a mysterious(神秘的) man

20. The word “drought” in line 3,paragraph 2 most probably means______________.

   A. continuous dry weather                 B. a strange noise

   C. current of air in a shut-in place      D. a strange smell

Passage 3

If you stand a short distance away from a high wall and shout, your voice sometimes comes back to you as an echo. This knowledge was made a few years before the last war, when radio waves from a transmitting station were reflected back from a distant aeroplane.

It was realized that if an apparatus(装置) could be devised(设计) to send out radio waves all the time and record the echoes from any approaching aeroplanes, it would be a wonderful method of defence in war.

Scientists set about solving the problem and radar was invented.An apparatus was made which sent out waves in pulses , and the presence of a distant aeroplane was on the screen of a cathode ray(高速电子) tube,(this is what we have in a television set.) In this way radar station could detect the approach of enemy aircraft.

After the war radar was put to peaceful uses. It is now installed at airports to guide aeroplane down safely in fog. It is fitted to ships so that they are warned of obstructions(障碍物) ahead, such as icebergs It guides ships into port. It provided aeroplane and ships with a magic eye, with which they can see far into the distance, in the dark or in fog.

21. The last war (Line2 , paragraph 1) may most probably refers to_____________.

 A. the World WarⅠ       B. The Oct. Revolution

 C. the World War Ⅱ      D. the Chinese Liberation War

22.The invention of radar_________________.

   A. has nothing to do with the reflection of sound waves.

   B is exactly the same as the reflection of sound waves

   C. is on the basis of the reflection of sound waves

   D. is by changing sound waves into radio waves

23. The invention of radar is mainly for the purpose of_________________.

A. scientific experiments      B.  defence in war   

C. peaceful uses               D. finding enemy airplanes

24. From the passage we may infer that radio waves can____.

A. be reflected from almost everything

B. only be reflected from airplanes

C. only be reflected from anything made of metal

D. be reflected from anything not far away

25. The word “detect” in the last sentence, the third paragraph most probably means_    _ .

      A. hear   B. smell   C. feel   D. discover

Part III. Vocabulary and Structure (25 points)

Section A 
Directions: In this section there are 15 incomplete sentences. For each sentence there are four choices marked A, B, C and D. Choose the ONE that best completes the sentence, Then mark the corresponding letter on the Answer Sheet with a single line through the center.

26. Courses are not ___  _ merely for students to pass exams.

   A. designed     B. designing     C. design      D. designs

27. Please ___   _those details that you would like to change.

   A. select        B. selection     C. selecting     D. selects

28. There are six people present at the meeting, __   __ three women.

   A. include       B. including     C. included     D. includes

29. He __  ___ told her that he worked for the corporation.

   A. simple       B. simply       C. simplify  D. simplely

30. They accept what is happening without ____  _ to change it.

   A. attempting    B. attempted      C. attempt     D. attempts

31.He was a great _  ___; he composed many great songs.

   A. art           B. artistic         C. artist    D. arts

32. Sandy did not want her parents to learn ____ the news of her failure in the exam.

A. in             B. for           C. on       D. about

33. I was surprised to find out that I was heavily ____ debt.

A. on             B. in            C. to      D. up

34. Out classroom is selected ______ the place for meeting.

   A. for            B. in              C. as      D. on

35. Their innovation products caught _____ quickly.

   A. with            B. up             C. on      D. in

36. Can you believe that John keeps a snake _____ a pet?
   A. as               B. in           C. for      D. against

37. The word comes _____ an African language.

   A. up               B. down        C. from    D. out

38. She hangs _____ all here clothes neatly in the wardrobe.

   A. up               B. out          C. in       D. on

39. The child has no understanding of problems, according ____ the doctor.

A. for              B. in           C. on    D. to

40. Americans _____ millions of Christmas cards every year.

    A. change       B. exchange     C. attempt   D. determine

Section B
Direction: There are 10 blanks in the following passage. For each blank there are four choices marked A, B, C and D. You should choose the One answer that best completes the passage. Then mark the corresponding letter on the Answer Sheet with a single line through the center.

In the past, American families 41 to be quite large. Parents 42 five or more were common. Over the years, the 43 of the family has decreased. One reason for this is an increase in the 44   of living 45 the average, children attend schools for more years than they used to, making them 46 dependent on their families longer. Moreover, children nowadays are better 47 and have more money to spend on 48 . The parents usually take the responsibility 49 all the expense. Meanwhile, families are less close than they used to be. More and more American mothers 50 away from home.

41. A. tended   
B. wanted   
  C. seemed        D. extended 

42. A. breeding 
B. raising   
  C. feeding       D. bringing 

43. A. amount  
    B. number 

  C. size          D. scale

44. A. level    
B. standard  
  C. wage          D. cost

45. A. On           B. By      
      C. At            D. From

46. A. finally   
B. financially    C. fashionably   D. faintly

47. A. worn    
    B. wearing        C. dressing      D. dressed

48. A. luxury       B. activity       C. playing  
   D. entertainment

49. A. at           B. to        
  C. on            D. for

50. A. are          B. run       
  C. work          D. separate

Part IV. Writing (25 points)

根据所给主题句，完成下列作文。
TV’s Influence On Our Daily Life

1） TV not only presents us a wonderful world, but also brings some changes to our daily life.

2) It is true that TV has the value of giving complete relaxation

3）Now we can see that TV has caused enormous problems along with its benefits.
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